

ON THE REPRESENTATION OF
 $\langle \rho_j, W_j \rangle$ ABSOLUTE MONOTONE FUNCTIONS

B. A. SAHAKYAN *

Chair of the General Mathematics YSU, Armenia

In the paper [1] the notion of the $\langle \rho_j, W_j \rangle$ absolutely monotone function was introduced. In the present paper we give some examples of sequences $\{W_j(x)\}_0^\infty$, consider the corresponding classes of $\langle \rho_j, W_j \rangle$ absolute monotone functions and study the problems of their representation.

MSC2010: 30H05.

Keywords: operators of Riemann-Liouville type, $\langle \rho_j, W_j \rangle$ absolutely monotone functions.

Preliminaries. Let $\alpha \in (0, +\infty)$, $f(x) \in L(0, l)$, $0 < l < +\infty$. The function

$${}_0D^{-\alpha} f(x) \equiv D^{-\alpha} f(x) \equiv \frac{1}{\Gamma(\alpha)} \int_0^x (x-t)^{\alpha-1} f(t) dt, \quad x \in (0, l),$$

is called the Riemann-Liouville integral of order α of $f(x)$ with a lower integration limit $x = 0$, and the function

$$D_l^{-\alpha} f(x) \equiv \frac{1}{\Gamma(\alpha)} \int_x^l (t-x)^{\alpha-1} f(t) dt, \quad x \in (0, l),$$

is called the Riemann-Liouville integral of function $f(x)$ with upper integration limit $x = l$.

Let $\alpha \in [0, 1)$, $1 - \alpha = 1/\rho$ ($\rho \geq 1$), $f(x) \in L(0, l)$. Then the function

$$D^{1/\rho} f(x) \equiv \frac{d}{dx} D^{-\alpha} f(x)$$

is called the Riemann-Liouville derivative of order $\frac{1}{\rho}$ of $f(x)$ with the initial point $x = 0$. Important properties of these operators are given in [2, 3].

One of these properties is the following: if the functions $f_k(x) \in L(0, l)$, $k = 1, 2$, are such that $f_1(x) D_l^{-\alpha} f_2(x) \in L(0, l)$ for some $\alpha \in (0, +\infty)$, then

$$\int_0^l f_1(x) D_l^{-\alpha} f_2(x) dx = \int_0^l f_2(x) {}_0D^{-\alpha} f_1(x) dx. \quad (1.1)$$

* E-mail: maneat@rambler.ru

In [1] the following systems of operators and functions were introduced:

$$A_n^* f(x) \equiv \prod_{j=0}^n D_j f(x), \quad n \geq 1, \quad D_j f(x) = D^{1/\rho_j} \left\{ \frac{f(x)}{W_j(x)} \right\}, \quad j \geq 0; \quad (1.2)$$

$$\tilde{A}_n^* f(x) = D^{-\alpha_n} \left\{ \frac{A_{n-1}^* f(x)}{W_n(x)} \right\}, \quad n \geq 0, \quad A_{-1}^* f(x) \equiv f; \quad (1.3)$$

$$U_0(x) = 1, \quad U_1(x) = \frac{1}{\Gamma(\rho_1^{-1})} \int_0^x \xi_1^{1/\rho_1-1} W_1(\xi_1) d\xi_1, \dots,$$

$$U_n(x) = \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_0^x W_1(\xi_1) d\xi_1 \int_0^{\xi_1} (\xi_1 - \xi_2)^{1/\rho_1-1} W_2(\xi_2) d\xi_2 \times \dots \times \quad (1.4)$$

$$\times \int_0^{\xi_{n-1}} (\xi_{n-1} - \xi_n)^{1/\rho_{n-1}-1} \xi_n^{1/\rho_n-1} W_n(\xi_n) d\xi_n, \quad n \geq 2;$$

$$\Phi_0(t, x) = \begin{cases} 1, & 0 \leq t < x < l, \\ 0, & x \leq t < l, \end{cases} \quad (1.5)$$

$$\Phi_1(t, x) = \begin{cases} \frac{1}{\Gamma(\rho_1^{-1})} \int_t^x (\xi_1 - t)^{\frac{1}{\rho_1}-1} W_1(\xi_1) d\xi_1, & 0 \leq t < x < l, \\ 0, & x \leq t < l, \end{cases}$$

$$\Phi_n(t, x) = \begin{cases} \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_t^x W_1(\xi_1) d\xi_1 \int_t^{\xi_1} (\xi_1 - \xi_2)^{\frac{1}{\rho_1}-1} W_2(\xi_2) d\xi_2 \times \dots \times \\ \times \int_t^{\xi_{n-1}} (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}}-1} (\xi_n - t)^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n, & 0 \leq t < x < l, \\ 0, & x \leq t < l. \end{cases} \quad (1.6)$$

We note that for $\rho_j = 1$, $j \geq 0$, these operators and functions were introduced in [4], and for $W_j(x) \equiv 1$, $\rho_j \geq 1$, $j \geq 0$, they were introduced in [5]. In [1] the following classes of functions were introduced:

a) $C_{n+1}\{[0, l], \langle \rho_j, W_j \rangle\}$ is the set of functions $f(x)$ satisfying the following conditions:

1) the functions $\tilde{A}_k^* f(x)$, $k = 0, 1, \dots, n$, are continuous on $[0, l]$;

2) the functions $A_k^* f(x)$, $k = 0, 1, \dots, n+1$, are continuous on $(0, l)$ and belong to class $L(0, l)$;

b) $C_\infty\{[0, l], \langle \rho_j, W_j \rangle\}$ is the set of functions $f(x)$, which are in the $C_n\{[0, l], \langle \rho_j, W_j \rangle\}$ for any $n \geq 0$;

c) $W = \left\{ \left\{ W_j(x) \right\}_0^\infty \mid W_0(x) = 1, 0 < W_j(x) \in C^\infty[0, l], W_j'(x) \leq 0, j \geq 0 \right\}$.

It is known (see [1]), that if $f(x) \in C_{n+1} \{[0, l], \langle \rho_j, W_j \rangle\}$, then the following formula is true:

$$f(x) = \sum_{k=0}^n \tilde{A}_k^* f(0) U_k(x) + \int_0^x \Phi_n(t, x) A_n^* f(t) dt. \quad (1.7)$$

The idea of the $\langle \rho_j, W_j \rangle$ absolutely monotonic function was introduced in [1]. We denote the class of such functions by

$$D \{[0, l], \langle \rho_j, W_j \rangle\} = \left\{ f(x)/f(x) \in C_\infty \{[0, l], \langle \rho_j, W_j \rangle\}, A_j^* f(x) \geq 0, W_j(x) \in W, j \geq 0 \right\}.$$

Note that for $\rho_j = 1, W_j(x) = 1, j \geq 0$, the class $D \{[0, l], \langle 1, 1 \rangle\}$ is the class of absolutely monotone functions introduced by Bernstein [6]. For $\rho_j = 1, j \geq 0, \{W_j(x)\}_0^\infty \in W$, the class $D \{[0, l], \langle 1, W_j \rangle\}$ is the class of generalized absolutely monotone functions introduced in [4]. For $\rho_j \geq 1, W_j(x) \equiv 1, j \geq 0$, the class $D \{[0, l], \langle \rho_j, 1 \rangle\}$ is the class of absolutely monotone functions introduced in [3]. We note that the idea of the $\langle \rho \rangle, \langle \rho, \lambda_j \rangle$ absolutely monotone functions was introduced in [7], but the systems of operators and functions considered there were essentially different.

Assume $\{W_j(x)\}_0^\infty \in W$ satisfies the following property: for any $x_0, 0 \leq x_0 < l$, there exist $x_0^*, x_0 < x_0^* < l$ and $\varepsilon > 0$, such that

$$\lim_{n \rightarrow \infty} \prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} \varepsilon^{\lambda_n} = 0, \quad (1.8)$$

where $m_j(x_0, x_0^*) = \min_{x \in [x_0, x_0^*]} W_j(x), M_j(x_0, x_0^*) = \max_{x \in [x_0, x_0^*]} W_j(x), j = 1, 2, \dots,$

$$\lambda_n = \sum_{j=1}^n \frac{1}{\rho_j} \quad (\text{obviously, } \lambda_n \rightarrow +\infty, \text{ for } n \rightarrow \infty).$$

In this case we will say that sequence $\{W_j(x)\}_0^\infty$ has the property “ ε ”. Note that in the case $\rho_j = 1, j \geq 0$, the condition (1.8) is given in [4]. Note also that in [1, 8] no examples of $\{W_j(x)\}_0^\infty \in \bar{W}$ are given. In the present paper we will give such examples, we will give a sufficient condition for $\{W_j(x)\}_0^\infty \in \bar{W}$. Also we will give the missing proofs of main lemmas and theorem of [1].

2. Auxiliary Lemmas. Let $\rho_j \geq 1, \rho_0 = 1, \alpha_j = 1 - 1/\rho_j, j \geq 0, \lambda_0 = 1, 0 < W_j(x) \in C^\infty[0, l]$. We consider the systems of operators and functions $\{A_n^*\}_0^\infty, \{\tilde{A}_n^*\}_0^\infty, \{U_n(x)\}_0^\infty, \{\Phi_n(t, x)\}_0^\infty$ defined in (1.2)–(1.6). It is known that for the functions $U_n(x), \Phi_n(t, x), n \geq 2$, the following representations are true:

$$U_n(x) = \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_0^x \xi_n^{1/\rho_n-1} W_n(\xi_n) d\xi_n \int_{\xi_n}^x (\xi_{n-1} - \xi_n)^{1/\rho_{n-1}-1} W_{n-1}(\xi_{n-1}) d\xi_{n-1} \times \\ \times \dots \times \int_{\xi_2}^x (\xi_1 - \xi_2)^{1/\rho_1-1} W_1(\xi_1) d\xi_1, \quad (2.1)$$

$$\Phi_n(t, x) = \begin{cases} \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_t^x (\xi_n - t)^{\frac{1}{\rho_n} - 1} W_n(\xi_n) d\xi_n \times \\ \quad \times \int_{\xi_n}^x (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}} - 1} W_{n-1}(\xi_{n-1}) d\xi_{n-1} \times \\ \quad \times \cdots \times \int_{\xi_2}^x (\xi_1 - \xi_2)^{1/\rho_1 - 1} W_1(\xi_1) d\xi_1, & 0 \leq t < x < l, \\ 0, & x \leq t < l. \end{cases} \quad (2.2)$$

The following two lemmas can be found in [1, 7].

Lemma 2.1. For any $n \geq 0$:

$$1^\circ. A_k^* \{U_n(x)\} \equiv 0, k \geq n, \tilde{A}_k^* \{U_n(x)\} \equiv 0, k \geq n+1, x \in [0, l]; \quad (2.3)$$

$$2^\circ. \tilde{A}_n^* \{U_n(x)\} \equiv 1, \forall n \geq 0, x \in [0, l]; \quad (2.4)$$

$$3^\circ. \tilde{A}_k^* \{U_n(x)\} \Big|_{x=0} = 0, \forall n \geq 1, 0 \leq k \leq n-1. \quad (2.5)$$

Lemma 2.2. The following relations hold:

$$A_k^* \{\Phi_n(t, x)\} \geq 0, \tilde{A}_k^* \{\Phi_n(t, x)\} \geq 0, k, n = 0, 1, \dots, 0 \leq t < x < l. \quad (2.6)$$

Lemma 2.3. If $W_n'(x) \leq 0$, then $\frac{d}{dt} \{\Phi_n(t, x)\} \leq 0, n \geq 0$.

Proof. Since by definition, $\Phi_n(t, x) = 0$ for $x \leq t < l$, we have to proof the Lemma for $t \in [0, x)$. Assume $n = 1$. It is easy to see that

$$\begin{aligned} \Phi_1(t, x) &= \frac{1}{\Gamma(\rho_1^{-1})} \int_t^x (\xi_1 - t)^{1/\rho_1 - 1} W_1(\xi_1) d\xi_1 = \\ &= \frac{\rho_1}{\Gamma(\rho_1^{-1})} \left((\xi_1 - t)^{\frac{1}{\rho_1}} W_1(\xi_1) \Big|_t^x - \int_t^x (\xi_1 - t)^{1/\rho_1} W_1'(\xi_1) d\xi_1 \right). \end{aligned} \quad (2.7)$$

Then we obtain

$$\frac{d}{dt} \{\Phi_n(t, x)\} = \frac{\rho_1}{\Gamma(\rho_1^{-1})} \left(-\frac{1}{\rho_1} (x-t)^{\frac{1}{\rho_1} - 1} W_1(x) + \frac{1}{\rho_1} \int_t^x (\xi_1 - t)^{\frac{1}{\rho_1} - 1} W_1'(\xi_1) d\xi_1 \right) \leq 0.$$

Now we apply the method of complete induction: assuming the Lemma is true for $n \geq 1$, we will prove that it holds also for $n+1$. Note, that

$$\Phi_{n+1}(t, x) = \frac{\int_t^x (\xi_{n+1} - t)^{\frac{1}{\rho_{n+1}} - 1} W_{n+1}(\xi_{n+1}) d\xi_{n+1} \cdots \int_{\xi_2}^x (\xi_1 - \xi_2)^{\frac{1}{\rho_1} - 1} W_1(\xi_1) d\xi_1}{\prod_{j=1}^{n+1} \Gamma(\rho_j^{-1})} =$$

$$\begin{aligned}
&= \frac{\rho_{n+1}}{\Gamma(\rho_{n+1}^{-1})} \left((\xi_{n+1} - t)^{\frac{1}{\rho_{n+1}}} W_{n+1}(\xi_{n+1}) \Phi_n(\xi_{n+1}, x) \Big|_t^x - \right. \\
&\quad \left. - \int_t^x (\xi_{n+1} - t)^{\frac{1}{\rho_{n+1}}} \frac{dW_{n+1}(\xi_{n+1}) \Phi_n(\xi_{n+1}, x)}{d\xi_{n+1}} d\xi_{n+1} \right) = \quad (2.8) \\
&= -\frac{\rho_{n+1}}{\Gamma(\rho_{n+1}^{-1})} \int_t^x (\xi_{n+1} - t)^{\frac{1}{\rho_{n+1}}} \frac{d}{d\xi_{n+1}} (W_{n+1}(\xi_{n+1}) \Phi_n(\xi_{n+1}, x)) d\xi_{n+1}.
\end{aligned}$$

From (2.8) we obtain

$$\begin{aligned}
\frac{d(\Phi_{n+1}(t, x))}{dt} &= \frac{1}{\Gamma(\rho_{n+1}^{-1})} \int_t^x (\xi_{n+1} - t)^{\frac{1}{\rho_{n+1}} - 1} \left(W'_{n+1}(\xi_{n+1}) \Phi_n(\xi_{n+1}, x) + \right. \\
&\quad \left. + W_{n+1}(\xi_{n+1}) \frac{d}{d\xi_{n+1}} \Phi_n(\xi_{n+1}, x) \right) d\xi_{n+1} \leq 0. \quad \square
\end{aligned}$$

Lemma 2.4. The following inequality is true for any $k \geq 0$, $n \geq 0$

$$\tilde{A}_k^* \{U_n(x)\} \Phi_k(x, d) < U_n(d), \quad 0 \leq x < d < l. \quad (2.9)$$

Proof. By Lemma 2.1, $\tilde{A}_k^* \{U_n(x)\} = 0$, $\forall n \geq 0$, $k \geq n + 1$. So we will prove (2.9) for $0 \leq k \leq n$. When $k = n$, (2.4) implies that $\tilde{A}_k^* \{U_n(x)\} = 1$. But since $\frac{d}{dt} \{\Phi_n(t, x)\} \leq 0$, then from the definition of the function $\Phi_n(x, d)$, it is easy to see that $\Phi_n(x, d) < \Phi_n(0, d) = U_n(d)$. Now let $0 \leq k < n - 2$, then it is easy to obtain the following formula:

$$\begin{aligned}
&\tilde{A}_k^* \{U_n(x)\} = \\
&= \frac{1}{\prod_{j=k+1}^n \Gamma(\rho_j^{-1})} \int_0^x W_{k+1}(\xi_{k+1}) d\xi_{k+1} \int_0^{\xi_{k+1}} (\xi_{k+1} - \xi_{k+2})^{\frac{1}{\rho_{k+1}} - 1} W_{k+2}(\xi_{k+2}) d\xi_{k+2} \times \\
&\times \cdots \times \int_0^{\xi_{n-1}} (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}} - 1} \xi_n^{\frac{1}{\rho_n} - 1} W_n(\xi_n) d\xi_n. \quad (2.10)
\end{aligned}$$

Consequently for $k = n - 2$ and $k = n - 1$ we will have

$$\begin{aligned}
&\tilde{A}_{n-2}^* \{U_n(x)\} = \\
&= \frac{1}{\prod_{j=n-1}^n \Gamma(\rho_j^{-1})} \int_0^x W_{n-1}(\xi_{n-1}) d\xi_{n-1} \int_0^{\xi_{n-1}} (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}} - 1} \xi_n^{\frac{1}{\rho_n} - 1} W_n(\xi_n) d\xi_n = \\
&= \frac{1}{\prod_{j=n-1}^n \Gamma(\rho_j^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n} - 1} W_n(\xi_n) d\xi_n \int_{\xi_n}^x (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}} - 1} W_{n-1}(\xi_{n-1}) d\xi_{n-1}, \quad (2.11)
\end{aligned}$$

$$\tilde{A}_{n-1}^*\{U_n(x)\} = \frac{1}{\Gamma(\rho_n^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n. \quad (2.12)$$

Then by the formula (2.12), using the definition of the function $\Phi_{n-1}(x, d)$ and taking into account (the property) $\frac{d}{dx}\{\Phi_{n-1}(x, d)\} \leq 0$, we obtain

$$\begin{aligned} \tilde{A}_{n-1}^*\{U_n(x)\} \Phi_{n-1}(x, d) &= \frac{1}{\Gamma(\rho_n^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) \Phi_{n-1}(x, d) d\xi_n \leq \\ &\leq \frac{1}{\Gamma(\rho_n^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) \Phi_{n-1}(\xi_n, d) d\xi_n = \\ &= \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n \int_{\xi_n}^d (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}}-1} W_{n-1}(\xi_{n-1}) d\xi_{n-1} \times \\ &\quad \times \dots \times \int_{\xi_2}^d (\xi_1 - \xi_2)^{\frac{1}{\rho_1}-1} W_1(\xi_1) d\xi_1 \leq U(d). \end{aligned} \quad (2.13)$$

So, we obtain for $0 \leq k \leq n-2$

$$\begin{aligned} \tilde{A}_k^*\{U_n(x)\} \Phi_k(x, d) &= \\ &= \frac{1}{\prod_{j=k+1}^n \Gamma(\rho_j^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n \int_{\xi_n}^x (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}}-1} W_{n-1}(\xi_{n-1}) d\xi_{n-1} \times \\ &\quad \times \dots \times \int_{\xi_{k+2}}^x (\xi_{k+1} - \xi_{k+2})^{\frac{1}{\rho_{k+1}}-1} W_{k+1}(\xi_{k+1}) d\xi_{k+1} \cdot \Phi_k(x, d) < \\ &< \frac{1}{\prod_{j=k+1}^n \Gamma(\rho_j^{-1})} \int_0^x \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n \times \\ &\quad \times \int_{\xi_{k+2}}^x (\xi_{k+1} - \xi_{k+2})^{\frac{1}{\rho_{k+1}}-1} W_{k+1}(\xi_{k+1}) \Phi_k(\xi_{k+1}, d) d\xi_{k+1} < \\ &< \frac{1}{\prod_{j=k+1}^n \Gamma(\rho_j^{-1})} \int_0^d \xi_n^{\frac{1}{\rho_n}-1} W_n(\xi_n) d\xi_n \times \\ &\quad \times \int_{\xi_{k+2}}^d (\xi_{k+1} - \xi_{k+2})^{\frac{1}{\rho_{k+1}}-1} W_{k+1}(\xi_{k+1}) \Phi_k(\xi_{k+1}, d) d\xi_{k+1} \times \\ &\quad \times \dots \times \int_{\xi_1}^d (\xi_1 - \xi_2)^{\frac{1}{\rho_1}-1} W_1(\xi_1) d\xi_1 = U_n(d). \quad \square \end{aligned} \quad (2.14)$$

L e m m a 2.5. For any $n \geq 1$,

$$\frac{d}{dt} D_x^{-\alpha_n} \{ \Phi_n(t, x) \} = -\Phi_{n-1}(t, x) W_n(t), \quad t \neq x. \quad (2.15)$$

P r o o f. By definition,

$$\begin{aligned} D_x^{-\alpha_n} \{ \Phi_n(t, x) \} &= \frac{1}{\Gamma(\alpha_n)} \int_t^x (\tau - t)^{\alpha_n - 1} \Phi_n(\tau, x) d\tau = \\ &= \frac{1}{\alpha_n \Gamma(\alpha_n)} \left(\Phi_n(\tau, x) (\tau - t)^{\alpha_n} \Big|_t^x - \int_t^x (\tau - t)^{\alpha_n} \frac{d}{d\tau} \{ \Phi_n(\tau, x) \} d\tau \right) = \\ &= -\frac{1}{\alpha_n \Gamma(\alpha_n)} \int_t^x (\tau - t)^{\alpha_n} \frac{d}{d\tau} \{ \Phi_n(\tau, x) \} d\tau, \end{aligned} \quad (2.16)$$

so,

$$\frac{d}{dt} D_x^{-\alpha_n} \{ \Phi_n(t, x) \} = \frac{1}{\Gamma(\alpha_n)} \int_t^x (\tau - t)^{\alpha_n - 1} \frac{d}{d\tau} \{ \Phi_n(\tau, x) \} d\tau. \quad (2.17)$$

We note that

$$\begin{aligned} \Phi_n(\tau, x) &= \frac{1}{\prod_{j=1}^n \Gamma(\rho_j^{-1})} \int_{\tau}^x (\xi_n - \tau)^{\frac{1}{\rho_n} - 1} W_n(\xi_n) d\xi_n \times \\ &\times \int_{\xi_n}^x (\xi_{n-1} - \xi_n)^{\frac{1}{\rho_{n-1}} - 1} W_{n-1}(\xi_{n-1}) d\xi_{n-1} \cdots \int_{\xi_2}^x (\xi_1 - \xi_2)^{\frac{1}{\rho_1} - 1} W_1(\xi_1) d\xi_1 = \\ &= \frac{\rho_n}{\Gamma(\rho_n^{-1})} \int_{\tau}^x W_n(\xi_n) \Phi_{n-1}(\xi_n, x) d(\xi_n - \tau)^{\frac{1}{\rho_n}} = \\ &= \frac{\rho_n \left((\xi_n - \tau)^{\frac{1}{\rho_n}} W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \Big|_{\tau}^x - \int_{\tau}^x (\xi_n - \tau)^{\frac{1}{\rho_n}} \frac{d}{d\xi_n} \{ W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \} d\xi_n \right)}{\Gamma(\rho_n^{-1})} = \\ &= -\frac{\rho_n}{\Gamma(\rho_n^{-1})} \int_{\tau}^x (\xi_n - \tau)^{\frac{1}{\rho_n}} \frac{d}{d\xi_n} \{ W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \} d\xi_n. \end{aligned} \quad (2.18)$$

Then we have

$$\frac{d}{d\tau} \{ \Phi_n(\tau, x) \} = \frac{1}{\Gamma(\rho_n^{-1})} \int_{\tau}^x (\xi_n - \tau)^{\frac{1}{\rho_n} - 1} \frac{d}{d\xi_n} \{ W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \} d\xi_n. \quad (2.19)$$

Changing the order of integration, from (2.17) and (2.19), we get

$$\begin{aligned} \frac{d}{dt} D_x^{-\alpha_n} \{ \Phi_n(t, x) \} &= \\ &= \frac{1}{\Gamma(\alpha_n) \Gamma(\rho_n^{-1})} \int_t^x (\tau - t)^{\alpha_n - 1} dt \int_{\tau}^x (\xi_n - \tau)^{\frac{1}{\rho_n} - 1} \frac{d}{d\xi_n} \{ W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \} d\xi_n = \end{aligned}$$

$$= \int_t^x \frac{d}{d\xi_n} \{ \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \} d\xi_n = \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \Big|_t^x = -\Phi_{n-1}(t, x) W_n(t). \quad \square$$

Lemma 2.6. For any $n \geq 0$,

$$\frac{d}{dt} D_x^{-\alpha_n} \{ \Phi_n(t, x) \} = D_x^{-\alpha_n} \left\{ \frac{d}{dt} \Phi_n(t, x) \right\}, \quad t \neq x. \quad (2.20)$$

Proof. Since, by Lemma 2.5, (2.15) is true, it is sufficient to show that

$$D_x^{-\alpha_n} \left\{ \frac{d}{dt} \Phi_n(t, x) \right\} = -\Phi_{n-1}(t, x) W_n(t).$$

Using the definition of the operator $D_x^{-\alpha_n}$ and the formula (2.19), we get

$$\begin{aligned} D_x^{-\alpha_n} \left\{ \frac{d}{dt} \Phi_n(t, x) \right\} &= \\ &= \frac{1}{\Gamma(\alpha_n) \Gamma(\rho_n^{-1})} \int_t^x (\tau - t)^{\alpha_n - 1} d\tau \int_\tau^x (\xi_n - \tau)^{\frac{1}{\rho_n} - 1} \frac{d}{d\xi_n} \{ W_n(\xi_n) \Phi_{n-1}(\xi_n, x) \} d\xi_n = \\ &= \frac{1}{\Gamma(\alpha_n) \Gamma(\rho_n^{-1})} \int_t^x \frac{d}{d\xi_n} \{ \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \} d\xi_n \int_t^{\xi_n} (\tau - t)^{\alpha_n - 1} (\xi_n - \tau)^{\frac{1}{\rho_n} - 1} d\tau = \\ &= \frac{1}{\Gamma(\alpha_n) \Gamma(\rho_n^{-1})} \int_t^x \frac{d}{d\xi_n} \{ \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \} \frac{\Gamma(\alpha_n) \Gamma(\rho_n^{-1})}{\Gamma(\alpha_n + \rho_n^{-1})} d\xi_n = \\ &= \int_t^x \frac{d}{d\xi_n} \{ \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \} d\xi_n = \Phi_{n-1}(\xi_n, x) W_n(\xi_n) \Big|_t^x = -\Phi_{n-1}(t, x) W_n(t). \quad \square \end{aligned}$$

In the rest of the paper we will suppose that $\{W_j(x)\}_0^\infty \in \bar{W}$. Two examples of such sequences are:

a) $W_0(x) \equiv 1$, $W_j(x) = e^{-(\lambda_j - \lambda_{j-1})x}$, $\lambda_j = \sum_{k=1}^j \frac{1}{\rho_k}$, $j \geq 1$, $\lambda_0 = 0$, $x \in [0, l)$.

It is obvious that $\{W_j(x)\}_0^\infty \in W$. Clearly, the sequence $\{W_j(x)\}_0^\infty$ satisfies (1.8), i.e. has the property “ ε ”. Indeed,

$$\prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} \varepsilon^{\lambda_n} = \prod_{j=1}^n \frac{e^{-(\lambda_j - \lambda_{j-1})x_0}}{e^{-(\lambda_j - \lambda_{j-1})x_0^*}} \varepsilon^{\lambda_n} = e^{(x_0^* - x_0)\lambda_n} \varepsilon^{\lambda_n} = e^{\lambda_n(x_0^* - x_0 + \ln \varepsilon)} \rightarrow 0$$

for $\lambda_n \rightarrow +\infty$, if $x_0^* - x_0 + \ln \varepsilon < 0$, $0 < \varepsilon < e^{-(x_0^* - x_0)}$.

b) $W_0(x) \equiv 1$, $W_j(x) = e^{-(\lambda_j^{\frac{1}{q}} - \lambda_{j-1}^{\frac{1}{q}})x}$, $j \geq 1$, where q is an integer ($q \geq 2$). It is obvious that $\{W_j(x)\}_0^\infty \in W$. To show that the sequence $\{W_j(x)\}_0^\infty \in \bar{W}$, we write

$$\prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} \varepsilon^{\lambda_n} = \prod_{j=1}^n \frac{e^{-(\lambda_j^{\frac{1}{q}} - \lambda_{j-1}^{\frac{1}{q}})x_0}}{e^{-(\lambda_j^{\frac{1}{q}} - \lambda_{j-1}^{\frac{1}{q}})x_0^*}} \varepsilon^{\lambda_n} = e^{(x_0^* - x_0)\lambda_n^{\frac{1}{q}}} \varepsilon^{\lambda_n} = e^{(x_0^* - x_0)\lambda_n^{\frac{1}{q}} + \lambda_n \ln \varepsilon} \rightarrow 0$$

for $\lambda_n \rightarrow +\infty$, when $0 < \varepsilon < 1$. □

L e m m a 2.7. Let $\{W_j(x)\}_0^\infty \in W$. If for any $x_0 (0 \leq x_0 < l)$, there exists $x_0^* (x_0 < x_0^* < l)$ and $C(x_0, x_0^*)$ such that

$$\prod_{j=1}^n \frac{W_j(x_0)}{W_j(x_0^*)} \leq C(x_0, x_0^*) \lambda_n, \quad (2.21)$$

then $\{W_j(x)\}_0^\infty \in \bar{W}$.

P r o o f. Note that $\prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} \varepsilon^{\lambda_n} = \prod_{j=1}^n \frac{W_j(x_0)}{W_j(x_0^*)} \varepsilon^{\lambda_n} \leq C(x_0, x_0^*) \lambda_n \varepsilon^{\lambda_n} \rightarrow 0$

for $\lambda_n \rightarrow +\infty$ when $0 < \varepsilon < 1$ ($\lim_{x \rightarrow +\infty} x \varepsilon^x = 0$). □

Next we show that (2.21) is not a necessary condition.

Let $\sup_{j \geq 1} \rho_j = \rho^* < +\infty$, $W_0(x) \equiv 1$, $W_j(x) = e^{-x}$, $j \geq 1$, $\lambda_n = \sum_{j=1}^n \frac{1}{\rho_j}$. Then

$\frac{n}{\rho^*} \leq \lambda_n \leq n$. To prove that $\{W_j(x)\}_0^\infty \in \bar{W}$, we calculate

$$\prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} \varepsilon^{\lambda_n} = \prod_{j=1}^n e^{(x_0^* - x_0)} \varepsilon^{\lambda_n} = e^{n(x_0^* - x_0)} \varepsilon^{\lambda_n} \leq e^{n(x_0^* - x_0 + \frac{\ln \varepsilon}{\rho^*})} \rightarrow 0$$

for $n \rightarrow +\infty$, if $x_0^* - x_0 + \frac{\ln \varepsilon}{\rho^*} < 0$, that is, if $0 < \varepsilon < e^{-\rho^*(x_0^* - x_0)}$.

It can be easily seen that the sequence does not satisfy (2.21). In fact,

$$\prod_{j=1}^n \frac{M_j(x_0, x_0^*)}{m_j(x_0, x_0^*)} = e^{n(x_0^* - x_0)}, \text{ but since}$$

$\frac{e^{n(x_0^* - x_0)}}{\lambda_n} \geq \frac{e^{n(x_0^* - x_0)}}{n} \rightarrow +\infty$ for $n \rightarrow +\infty$, then the condition (2.21) is not satisfied.

It would be interesting to obtain a necessary and sufficient condition for $\{W_j(x)\}_0^\infty \in \bar{W}$. This question has no answer yet.

Received 04.12.2013

REFERENCES

1. **Sahakyan B.A.** Differential Operators of the Fractional Order and Associated with them $\langle \rho_j, W_j \rangle$ Absolutely Monotone Functions. // Uchenie Zapiski EGU, 1975, № 1, p. 3–9 (in Russian).
2. **Dzhrbashyan M.M.** Integral Transforms and Representations of Functions in the Complex Domain. M.: Nauka, 1966 (in Russian).
3. **Dzhrbashyan M.M.** // Izv. AN Arm. SSR. Ser. Mat., 1968, v. 3, № 34, p. 171–248 (in Russian).
4. **Karlin S., Studden W.** Tchebycheff Systems with Applications in Analysis and Statics. Chap. 9. New York, 1966, p. 381–436.
5. **Sahakyan B.A.** // Izv. AN Arm. SSR. Ser. Mat., 1974, № 4, p. 285–307 (in Russian).
6. **Bernstein S.N.** Sbornik Trudov. M.: Izdat. AN SSSR, 1952, v. 35, p. 370–425 (in Russian).
7. **Dzhrbashyan M.M., Sahakyan B.A.** Izv. AN SSSR. Mathematica, 1975, v. 39, № 1, p. 69–122 (in Russian).
8. **Sahakyan B.A.** PhD Thesis. Yer.: YSU, 1975, p. 1–122 (in Russian).